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3. 14 X7= 4?2 —37= 3. 14X (4> —32)=
3. 14 X9= 52—4?= 3. 14 X (52 —4?) =
3. 14 X20= 62 —42= 3. 14 X (62 —4%2) =
3. 14 X40= 7P —32= 3. AX(7?P—32)=
3. 14 X60= 82 —22= 3. 14X (8 —22)=
3. 14 X80= 92 —12= 3. 14X (9?—1%)=
3. 14 X8= 3PE—12= 3. 14X (F—1%)=
3. 14 X10= 42 —2t= (4*—22) X 4=
3.14X0. 1= 42 —1%= (42 —1%) X 3=
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4.6 X4, 8+4. 6= 6. 28+ (3. 14 X2)= 2.5X0.4-+-2. 5=

0.45--0.09X5= 6. 28+3.14+—2= 1.4X0.5+2=

3.9-+0. 39 X5= 94. 2-+(3.14 X10)= 8X12.5+-25=

3. 216 X5= 94.2-+-3.14--10= 15X20—+-10=

4,1 X2—4= 157--(3. 14 X5) = 0.8X0.1-+0. 8=

74.3+—10X2= 157-+—3.14+—5= 21 X4-—-2=

1.5+0.3X6= 18. 84-+(3.14 X3)= 0.9X0.4-+18=

9.6+-16 X5= 18.84-+3. 14+—3= 20X3—+—15=

0.48-—0.8X3= 28.26—(3.14X3)= 3X4X5-=-30=

1--0.01X12= 28.26+3.14+—3= 42X 3-+-6=
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0. 24X 3= 12X 3+ 4= 125X 8+40=
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75X 3= 21X 3= 7= 9.3+3. 14+2=
75+ 3= 917X 3= 2%0. 45+12=
150X 3= 33X 3=11= 300-5--12=
150=3= 33--11X3= 10, 7X2. 5=
45X 3= 18X 3= 6= 0. 9<0, 8+0, 18—
45+3= 186X 3= 0. 2540, 540, 5=
2. 1X3= 27X 3=9= 73X (7—5)=
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1AX1XEX E=
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1
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1
25X 3. 14X 2= 3. 14X 22 X 25= 314X 22 X3X 5=
1
0.5X8X3. 14= 2250, 5% 3. 14= EX15X 5=
1
3.14X0. 5X 8= 3. 14X 22 X0, 5= 3. XX 15X 5=
1 _
8X3.14X0. 5= 12.5X3. 14X 8= 12X 5=
, 1
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10 %%
12X0. 5= 3.14X0. 1= 3. 14XAX 2=
2. 4X 4= 3.14X0. 5= 3. 14X 5X 2=
5.2+1.3= 3. 14X 30= 3. 14X 20X 2=
100, 5= 3.14X0. 6= 3.14X0. 1 X5=
0.23X3= 3. 14X 40= 3. 14X 50X 4=
0. 72 = 15,73, 14= 3.14><6><%=
100X 70% = 18.84+3. 14= 3. 14X22=
720, 8= 921983, 14— 3. 14X 12X 8=
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502 = 3.14X5—3. 14X 2= 94,23, 14-2=
0. 360, 18= 3. 14X52—3, 14X 42 = 3. 14X (6+2)2=
1
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KR EUAE.
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2. MW

CRAING
56 44— 890—450= 89121 =
67-133= 270—150= 560—70=
153+ 24= 90— 8= 66— 23—

NEL PE
347 Lo= 30010 X 3= 3oo><1—30:
146+8= 60 15X 4= 60><1i5
1743+ 4= 24024 X 17— 24o><£:
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15+13+12= 15030 X 8= 150><%:
174334+ 20= 490 70X 17= 490><%7
34+3+1= 921027 X 3= 210><%=
9+9t3= 168=21 X 9— 168><ﬁ:
7425 00= 10854 X 7= 108><5l4—

HRAR bl o800 KA k2 —FE 5L, 5 808 — AN R R AN 3
xR,



R MQ;

AR R R R R R

3. tEHIm=
(1)
CREAG
30-+-150= 0.7-0.8 T
18=+19 0.12-+0.04 T
15-+-25= 0.9-+2.7 o1 7
LB ESB
SRIGIE.
O c 49— 1,1
5t 40= 1.4+:+4.2 T
H fr— H —_— l:l:
28 : 21 1:0.3 T
A : _ 1,1
9:6= 0.2+ 0.25 5y
o :1 A 7,3
15:21= 1.8: 1.6 5" 16
H s H = lziz
24 & 36 l.4:2.1 st
s 00— _ 7,2
28+ 20— 1:0.25 5
s 40— c1— S
30 : 40= 0.5: 1= 9.17
: — : — é:l:
12 : 24 2.4+0.8 6 %
N L0 A 1,1
18+ 156= 0.6:0.6 3 g
A
H sS H — l: —
80 ¢ 8 3:3.9 10 1 ik
BRAR AF@EAkAgEeXF=Ens),



— & P>

>>>>>>>>>>>>>>>>>>>>>>>>>

6 X 9=

12X5=

35 X 4=

4:+24=1:6
4X( ) =24 X( )
( ) X1=( ) X6
0.2:2.5=4:50

0. 2X( )=( ) X 2.5

( ) X4=50X( )
1,111
3 4 6 8
1 1
§><( )—4><( )
1_ 1
( )XE—( )><8
a1, 1
3 1.5—4 3
1_1
( )XZ_SX( )
3X( )=( YX1.5

..................................... FEREE ()
3. LERIRYES
(2)
LN %
- 32 _
3X1.5= 7><7
_ 4,4
1.6 X60 9><9
_ 2,1 _
0.5X14 5><6
NET DR
4 _ 5 _
E715 4 X5=2X10
_ 4 . 2
4 X ( Y=12X( ) ( )« )
_ ( ) ( )
( Y X5=( ) X 15 Ty
2_8 2 5
9 36 ( ) ( )
_ 10 4
( ) X36=8X( ) ( Y ( )
9X( )Y=2X( ) 0.3X12=9X0.4
4 _1.6 C O _C
0.5 O. 0.3 9
_ 9 _ 12
4 X ( )=( ) X0.5 ( T )
_ ( > 0.3
( Y X1.6=0.2X( ) 12 )
0.8_4 C H_ 9
1.2 6 0.4 ( )
0. 8X( Y=1.2X( )
4 X ( )=06X( )

HRAR A2, BmAIRGRE T HA ARG, X o] 4 ] 69 2 AR



<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

3. M=
(3)
CREN G
£ 8—0 5 : 15_60
0.4:8=0.5:10 - =08
0. 4% ( )=8X%0.5 15X 28="7X( )
8 ( )=10X( ) ( ) X 60=( ) X 28
NEL PR
AL
A 12_ =« 1, 2,1
xr23=6:9 1 5 2 x c 5
o OXC D = OXC D ae
( ) ( )
x= x= 8:5=x: 1_16
8:0.4=x:5 202 o
ﬁ&x:( ) X( ) ﬁ@x:( ) X ( ) 2t0.4=5.6:0.7
( ) ( )
xr— xr= i x=
l H :l H l i:LS H 10:l é
4t 275 4 0.6 * 22
fx=C O)XC )= ) =" 8X<) ) s =
_ _ 35_70
X x 7 x
1,2_1, 6_24 _
3 3 8§ * 5 x i
= C )X () fRaa=" ()X% ) o 10 N
X O. 3 A
xr= x= it ax= 19

HFAMAE ARG 69 A AR, 4o R O 4 ] P a9 44T = 3R . 36 7T VA K X A b
Py B — AR,



o
&mﬂ W% 1 5 i ARG (BI)

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>

4. LHIR
(1)

RN
A3
50 : 4000= 8000 = 8= 50 ¢ 2. 5=
20 2 30000= 20000 : 4= 0.3 : 30000=
6 : 60000= 4800 ¢ 12= 1.7 :510=

T BEH3)
SREEBIR,

50K ¢ 5 K 6 JHK ¢ 6 =

=C  DOFEK:C 0 DJEK 2.7 K t 54 Fof=
=( )+ ( )

3K+ 15 FKk=
4.5 JEK : 90 TKk=
0.5 JEK : 6 k=

Oy 3K ¢ 3 ZAK=
3cm ¢ 30km=
4em ¢ 1km Zem ¢ Zkm=
= Jem ¢ ( )cm 0.5cm * 20km=
—( ) & ( )
6cm ¢ 180km=
4em ¢ 3, 2km=
0.7cm ¢ 14km
A =( dem ¢ ( )cm sem ® Tom=
A
90 =C )+ C ) Sem ¢ 300m=

HRRAE —mWAEALEZEIRIESGIL, »4EX g A0 s R
B ESER : LIRS =4 R



R g:,

AR R R R R R

4. PR

1km=( )em 300000cm=( Ykm

20m=( )cm 40000cm=( )m

1. Skm=( )em 12cm= Ymm
Nk PE
1B 2. HH—IH,
7. 8x100000= B FEEES | SIBREEES | BN
30X 100000=
3cm 45km ( )
1.5X400=
5 1t 2000
2. 4X3000= o ( m
3. 2X60000= ( )em 16m 1: 400
1. 6X200000= 2. 5cm 100km | ¢ )
1
700000 X 100000 Scm ( J)mm | 20: 1
1 ( )cm 60km 1
250000 X 150505~ 200000
1
2cm ( Ykm
1 _ 300000
6000000 X 75555
15cm 9km ( )
1
47500 X —— =
1000 20cm 10cm ( )
55000 X —— — 1
5000 ¢ Dem | 300km | zoo000
1
1 30 600 ( )
24oo><6OOO cm m

HIERAZE ZHESXIHAR=BLIES
B EIE & b R =5CFRIE S



&Qﬂ ... S

INEFRHZFT(B))

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>

36-+-24=
18=-54=

10+4=

1SR
110 & 20=
12+ 15=
7.5:1.5=

0.8:0.24=

5. 1EEE ki sz e il
(1)
CREN G

1.2-+3. 6=
12.5+5=
10, 4+2=
N-E1 PE
2. I,
( )t 25=4:5
15 ¢ ( Y=45 : 90
0.5:0.6=5: ( )
( )_ 3
40 8
6 _ 12
( ) 4
2 _( )
3 180
6 _ 8
0.6 ( )
24 ¢ ( )=8 20
3, _ 1,
a ( )= 2 8
4.1 _ :
=iy ( )+ 8
11,1
( ) 2 39
1,1_1,
48 10 ( )

S| pol=

[—
|

[~

-

oo | =
W)
g

3. fift Eu il

x4+ 36=2:3
%:I:

4,8 : x=8: 4
ﬁﬁ::x:

1 2
2ig=riy
ﬁﬁ’:l—

7_1.4

x 2
ﬁﬁ‘:x—

40_ x

80 100
ﬁ%lji:l”*
1.9_40

3. X
%:I—

HRAZR wRAFHrfoy Al ARG E, A L EATEMNGA(—T),

EWwG 2 ZRAXFTAETH :%—k(#/@o



AR R R R R R

24 X5=

17X3=

6X43=

21 X3=-3=

0.48X20 _
6

0. 48X 20-+-6=

1.2X4 _
1.6

1.2X4-=1.6=

20X18_
3

20X 18-+3=

1. 6X60__
8

1. 6 X60-+-8=

5. 1IEEERD 5 L1

2X12=3X( )

9X4=6X( )

1. 2X4=( ) X8

0. 2X100=( ) X5
1

R

1
16O><8—
7,24
8X35*

1
192><4—

R 2 WA,
1 2
61715><3
ﬁﬁ‘:l:
31=24x%
ﬁ’ﬁlg:l”:
_ 2
2x—25><75
%:I:
1 1.1
21 =67
ﬁﬁ::x:
2 _iiwd
91,—14><7
ﬁ?:x:

s

A

A
45

J

HRAERE wRAFH oy KTHAALIKNGE, Ak RTEMNHRBR(—Z), R

W) & ZTARXFERTH xy=k(—5%),



/—§)>

s
&mﬂ % 115t NEREET(BI)

(B S S S S S S S

6. i IR D)

KILHE.

L D0 0— 1,1
24+ 4= 8.1:0.9 53
. 00 . _ L4
13: 39= 0.6:0.8= 1-3—

_ . _ 2, 3_

6:10= 0.05:0.15 35
L BEH3)

_ s_3 1,1 1
3:1=21:<x 215 3 ET e
fit . x= fit . x= fit o=

: =0 * XL % :l: :l
x+18=6:+3 6 3 x iy 12 2
ﬁﬁ::x: ﬁ?ﬂ:x: ﬁ’q’::x:

s oas 3 _ R O
0.4:2x=8:20 1505 45 5
ﬁg:x: ﬁﬁ::x: ﬁ’i:x:
20t 40=21: 5 360 12t 3=2:0.25

2 4
it ax= it ax= it ax=

s o £ 150 & 1. 5,
50:4=2.5:x 3 317 g T 2:+3
%:JJ: ﬁ?ﬁl: ﬁﬁ::x:

HRAER WHMARZR, RENMERT 2 EAF| B &2, a5 xT EAAET .



R MQ;

AR R R R R R

bar=24X8

ﬁﬁ]‘:x:

20x=1.6X10

it x=

20=4 X8

fith . x=

20 X1. 8=30x

ﬁﬁj‘:x:

50 X3=60x

@:JC:

6. R0}
(2)
®LONE
1541 = 160, 4=
0.4+ 16=
1.1 _
k= 16 X0, 4=
BEH3
%x:%x%@ 24x=2. 4 X 20
%:I: ﬁﬁ::x:
| N _ 1
Fr=8X 24z=12 4
fitt = i =
12 -~
Tr=<x2 20X 600=(20+10) x
X ﬁﬁ;!x:
1.1 _
X3=7z 200X 500=(500—100) z
ﬁﬁ::l’: ﬁ)ﬁfi:x:
%X(s:%x 92 3= 40X 5
A
ﬁﬁ:l‘: ﬁﬁ::x: A
25

BRAZR 77 RME ARG, &2 A ERBTRE, AMELEREZEAEA

BZR,



&
&mﬂ W% 1 5 i ARG (BI)

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>

6. fiR IR D)
(3)
E LN
SR
1:0.5— 2 %z %:%:
9:1,8= %:2: % : %:
0.8:0.7= 4 %: 214 : 2_94:
BEH3)
4X2= g X 22 = 92X 2=
4+2= §+22= 84—4—
16X 4= 20X 42 = X T2 =
16-+—4= 160-+-42= 49072 =
15X 3= 90 X 3% = 14X 7=
15+3= 90+37 = 54-+9=
29X 2= 40 X 5% = 10X 8=
A8—4= 125+52= 128+8*=
12X 7= 2X 62 = 102X 5=
27+9= 108+62= 52+2=
32X5= 8§X10%= 30X 3%=
A 240--6= 600+-10%= 10022 =
A
0 121X4= 3X 9= 126+—3=

[

HRRAE R—1HEABWSLEMBENLARRE DG MFOETEREZRDA
AT T BREAT,



R Q

<<<<444444444444444444444444444444444444444444444444<<<<<<<<<<<<<<<<<<<<<<<

fRfETEE .
lem ¢ Ilm=
2cm 2 500m=

3cem ¢ 6000m=

1
6OOOO><ZOOOO

60000-+-20000=

1

800000 X

800000--400000==

6-+-1200=

1
61200~

400000

BB 587]
= LUN
5cm ¢ Skm= lem 3 lmm=
4em 2 80km= 2cm 2 4dmm=
Scm ¢ 150km= 6cm ¢ 3mm=
SES DR
2. —H, 3. fi Ll
5 1 o+ ax=1+ 300
( ) 300 . x=

5X300=( ) X1
0.4+ x=5%2.5

8§ _ 1 il s 2=
() 2000
N |
8§X2000=( X1 24+ 0.3=x ¢
( O 1 s =

60000 20000

( )X20000=1X60000 [ —Z

800000 400000

( ) X400000=1X800000 o g 7

x 0.2
6 1
1200 ( ) it x=
A
X =1200%1 -
6 ( ) 00 o

HFEAZE b4 R e 358 ) R e & B pbte] R



&
&mﬂ W% 1 5 i ARG (BI)

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>

MPIn%>1(1)

ﬁ 5)‘(17’ 838 @ e

« JIAONIJUEZHAO

5 ?Wi/\* FIR) R B8 TP A B 22 1) 0 SR A T 1R (] g R4 TLMFJ*%‘H
WJ/\FI‘HI—JEI’JléﬁI %F = AL R A T A

e 6X5e + ><4 10X 7 —4X3
=5 X (6+19) =2 X (10—3)
:21‘5><25 :%w
' - .
A BRI
15X 2 +3><1—27f %X6+%><2: 7><%—3><%:
1ax L +4><139 %><12+%><4= 9><%—4><%=
19X L 47X = X124+ 6= 1333353 —
20x 11 +11><2—77— %x21+%><5: 19><1_7o 7><%—
23% L +9><§—§— %x30+%><3: 26><1—85 8><%—
31X S +8><£ 1—16><35+ X 9= 25><2%—5><2—23
50X a7 X o = 55X 65 X 18= 41Xl —17X =
60X - +9><6—77— 3—1O><35+ X 25 = 5o><%—19><%_
2A8 61X 2 +5><§f’L 4—15><55+ X 40= 84><%*10><%—

[

HIEREBAZE FEEopmENRA abtac=a(b+c),



R g:,

AR R R R R R

PI8%>1(2)

ﬁ xireels . R— P 5

e
K (% seesssss JJAONIJUEZHAO

MRS O B R BRI SIS B 4 T R R
B PR RO 5 R 225 AR BUE SR 53 F SRS,

Bl 58X e —a 280X, 12

Al M Bl e o Bk A8

58X o= = (55-3) X o =55 X s +3X s =4+ =4 22
U .
36><3—25: 120><%: 117><1_§5:
91><9_7O: 69><%: 75x%:
63><%: 24><2%): %xggz
13><%: ZGOOX%: 56><5%=
16><T54: 18><1—76= 77><%2:
125X 5= 99X = 2011 X 202 —
90><%: 142><Tio: 198><%:
17><%: 39><3—85: 366><3—25:

A

34X = 73X = 47X = ;;

HRRAR EH3RH52 0 690 E ] sh B, BRI RA 0 69w a3



SEER
F17R 92 314 12.5nf %67 251,280  251.2
IRBT/ING 01256 942 2512nt | RBING . 2512 8 25.12
86 43 284 1 314 15.7 ©0.16 0.09  0.04 | 3L4 12 48
68 45 92 L0.0628 21. 98 i 0.81 0.25 0.64 | 0.314 15 45
42 38 90 01884 28. 26 L 0.49 2500 6400 | 9.42 16 32
BE%3] . 282.6 628 BE%3] 18.84 32 640
24 40 76 : - i 6 2 6.28  2.826 24 240
¢ 0.0942 1256 : & o 7
24 4 3.6 2198 1884 960 20 62.8 . %9 M
24 80 480 o 5 100 314 l%ﬁljlj\ﬁ
0 8 o L. mAm - 18.9 80 251.2 0 15.7 12,56 216
90 90 1 | IRBINR 192 50 157 | 0.942 0.314 62.8
90 9 6 ! 16 49 1 9,42 100 314 | 62.8 18.84 1570
o s 01 4 25 64 | 3 200 628 | BELS]
60 Lot 2 L9 36 81 i L04 4.9 0.314 | 62.8 200 2
: EL T O 1L5 640 3.4 1 314 200  40.6
6L 220 109 T s se06 0 100 8100 314 | 4.8 1 0.4
48 4.5 70 : : -0 :
48 9000 37 S : R :
: 09 1 3.14 1 50 3 4
811 lo.2 009 3L4 314 _ :
- L8 sl - 10.5 1 .14 11 3 30
200 3000 87 . % o P 2,05 10 0.1
IRBT/ING . 0.03142.198 942 1 91 032 0.8 30 2 0. 02
120 1400 5900 i 314 282.6 157 i 10 0,21 48 | 3 2 4
120 1400 5900 | 12.56 314  12.56 1 800 9 4 L8 3 2
780 8600 5900 | 0.1256219.8  0.942 | EELS] 1200 3 21
HE%S . 1256 28.26 282.6 ; 9 28.26 0.1 | 9.3 4 2
3.14 0.314 6.28 | 28.26 1256  188.4 | 4 12.56 90 %10 R
6.28 0.628 12.56 | 2826 282.6 3.14 | 100 314 13 RN
9.42 0.942 18.84 | 0. 2826 62.8 94,2 | 10000 31400  0.45 § 3 0.2 4
12.56 1.256 25.12 %57 0.04 0.1256 184 S 1.6 9
15.7 1.57 34 smanN 0.09 0.2826 91 P8 2.4 14
18.84 1.884  62.8 | a1 4 0.01 0.0314 5.1 | BEHS
-0t L, . . 3L.4 628 628 | 214 o a 57 4
: : : 25 100 91.5 | 40 3.4 1.5
25.12 2.512 1884 | 19 ce 3 14 314 | :
: .96 3. A s 162 .28 | 36 .14 12
28.26 2.826  251.2 | wogen : :
514 157 a4 BE%3 L 0.25 5 1 P42 0.942 32
o8 1884 smre | 2 1 9 1 16 96 0.782 i 12 1.57 2.5
: ‘ : 3 L5 120 1 400 1256 1060 | 35 25.12 50
94,2 219.8 219.8 : poe :
4 2 48 %87 160 1.884 1.6
125.6 2312ﬁ 157 3 4 480 | IRBI/INER P22 9.42 27
- 3 R o 45 4 | 54 54 90 oz 0.628 360
IRBINER S o o 1.1 0.2 14 | 25 1884 0.25
6.28 15.7 25.12 ) )  BE%S RBTING
9.42 18.84 28.26 | 7 3532 v sy 5 157 b o200 20 1256
B X% o b 2198 7 2198 | 1.6 40 500
11256 0.628 2.4.6m’ | 20 10 151 2826 9 2826 | 80 120 70
0.2198 1.256  36dm* | 300 150 25.12 ¢ 62.8 20 62.8 | HELS

2512 1.884 2lem’ | 40 20 1256 | 125.6 40 125.6 | 270 12 1
0.0314 2512  0.6%8nF! 50 25 314 ¢ 188.4 60 188.4 i 30 12 24




A
A
64

L

2%ﬂﬂﬁﬁ&;u

[ S

6.3 9
0.7 9
0.72 9
0.08 9
225 9
25 9
450 9
50 9
135 9
15 9
6.3 9
127
TRAT/NER
170 640
170 640
170 640
BE%3
3.4 62.8
3.4 62.8
3.4 314
157 314
157 314
157 314
12.56 6.28
12.56 6.28
12.56 314
188.4 157
188.4 18.84
%13 ;
6 0. 314
9.6 1. 57
4 94. 2
20 1. 884
0.69  125.6
0.49 5
70 6
90 0.7
1.36 90
0.3 9.42
1.05  31.4
9 25.12
2500  9.42
2 28. 26
0.75 3.14
628 157
% 14w
IRAT/NER
12 13
3 12
6 12
24 19

(RUR=R 3Pl
10
5 4
20
10401 o5 75
90
L5 | BE&S
12.9 1 1
5 2 2
7 1
= 2
0.9 2
1 € 3
146 2
4
4 5
9000 5 é%
9000 5
9000 2
3 4
9. 42 2 f%
9.42 .
2 16 -
6.28 )
4 v 6
12. 56
: 1
5 5 5
15.7 3 5
4 7 3
100 6 5
314 - K}
| % 15 .
2512 smppngg
3.4 9
125.6 i 1010 55
1.57 6
628 10 10 - 8
6. 28
1256 . 2 2 2
25.12 | BE4%3
0.2826: 12:1 9:8
18. 84 3:92 4:1
314 1:2 5:2
2 5:3 5:4
15 5:3 2:3
28. 26 8:7 9:1]
9.42 3:1 1:3
12.56 1:3  20:1
1:3 1:1
12 1 % 16
R LY
) L100 440
-~ 100 120
1 177 22
FERE-EL T
24 Co12 90
19 15 16

o

vl o]

w|m w|m Nﬂw N‘m m|~ %|w %‘H

—

D=

al

[0/
wlro |

oo wo

110
490
43

90
16

I

50 4 2 9 4
0.2 8 36 5 2

2.5
1 1

8§ 6

24 170
30 81
18 140
40 104
40 40
70 119
7 90
21 72
54 14
§ %517 R
LIRBI/NGE
-1 e
5 8
18
19 3
3 1
5
F473)
1 1
8 3
4 10
3 3
3 4
2 5
5 9
7 8
2 2
3 3
7
? 4
3 1
4 2
1
5 3
6
: 1
10
10 13
: %18 |
IRBIN
54 4.5
60 96
140 7
 BEE3
b6 1 15 5
24 4 12 4

170
81
140
104
40

>J>~|ﬂ @‘m w‘\1 o—u‘»—a go‘oo - ao‘; l\'>|>—‘ m|w

—
[\

(o2}

2

02 16 0.4 12 |

5
4
10

INEFRHZFT(B))

A S e S S S

1 1
1 3 0.5 4 0.3 0.4

L5 3 6 4 9 0.4

11
g 1 L2080312
(___ MERAME—)
§ F19M
IR
P10 60
. 0.5 0.4 7 15
 BE%S
b3X6  12X5 1
9 15 4
1
2 4 10
5X8 1.5X2
0.4 0.5 >?
100 6 2
A 1.1 4X05
<572 Tas M
1 10
30 3 0.15
21 .1 24X5
37873 6
1
i 20
! %20,
IRBING
P 1:80 1000:1 20:1

11500 5000 : 1 1 # 100000
1:10000 400:1 1:300

 BE&
b5 500 1:100
1 100 1 3 2000000
20 2 1 #5000
10 1 1 % 2000000
4100000 1:1200
1 25000 10:1
0.7 1400000 1 : 1000000
12000000 13 100000
1 = 4000000
1 3000000
1+ 80000
1500
1+ 6000
§ %21
L IRBI/INGE
100000 3
2000 400
. 180000 120
P BEL%S

i 1. 780000 2.1 : 1500000
3000000 100




R R R R R R R R

600 4
7200
192000 4
320000 30
7 6
2.5 1
60 2:1
47.5 5
11 1
2
5
%22 R
BTN
3 1 3
2 3 7
1 1
o254
5
> 52 3
BE%3]
1.%% 2.20 3.24
L
2 30
5 6 4
10
215 10
4 2 50
S 120 80
1
2
= os
80 60
1
L1
32
3
> 7
11
20 20
% 23
WRAT/NGR
120 120 20
51 48 2
o)
258 48 48
BE4%3
.21 2.8 3.60
21 6 6
1
L6 0.6
1
L6 4 =
3 270 9
3
. 2

1
120 G
1
120 oE
1
12 20
1
12 11
3 % 24 W
RN
6 9
13
3 4
3 1
5 3
F4%3
7 40
36 48
1 1
5
2 40
1
5 500
%25
BRI
P48 30
Y
3.5 2
. 1
| 3.2 3
BE43
: 1
32 5
0.8 4
16 4
3
1.2 2
S
5 15
% 26
WRAT/INGR
2 6
1
o 6
8
7 10
BE%S
8 32
2 2
64 320
4 10

©|e o rofws

40

40
6.4

45 810 98
5 10 6
58 1000 640
12 5 2
84 72 510
3 3 26
160 800 270
40 6 25
484 243 42
: % 2T R
IRBING
Po1+100 1+ 100000
10:1 1 : 25000
112000000 5:1
15200000 1% 3000000
P20+ 1
 BE4%S)
! 1.1500 2.1500 3.1500
{1500 1500 0.2
16000 16000 20
16000 16000 14
3 3 0.08
3 3
2 2
2 2
1
500 200
1
300 200
% 28
3 3 3
4 4 4
7 3 3
11 7 7
9 5 8
8 5 5
7 3 17
9 7 19
5 11 10
%29 R
2 7 16
235 T35 8115
7 44 3
7% 11& Bﬂ
11 3 5
11% 3? 5@
7 11 9
75 11% 3%
[‘i l E =
o7 78 15
13 _5 2009
13551 505 2009 507
£ 5 9 O
1 970 V197 |
4 32 7
275 835 T3 |

15
76

SHIE R

14 9 16

5 370 8y
%30
mENE
| ]

19 L6

4 3 20

32
B 29 2
Bz
| ) |
L4 2 22001

S5 1 .

Yo 120
1 16 .
L2 148000
05 o,

20 2 1+ 200000
o1
18 2 1:125
5 3 .
> S 1125000
S5 1 .
>4 100
71 ,
Lo o2
3 1 .

S 10
71 ,

80 15 52

%317

1
S 23 3.10
4y 3
o)

5 6 4

10 1

5 0
4 4 35
5
> 1

1

20 L2 &

1

50

75

3 2

5 36

|
o 1.5
2
L
0 80
3
I






